## WVLS Member Libraries - 2025 Reimbursements from Home and Adjacent Counties (Based on 2023 Annual Report Data)

(NOTE: The amounts calculated when dividing 2023 Expenditures by 2023 Cirulations have been rounded)

Library	Home County	2023 Operating Expenditures (less federal funds)	2023 Total Circulation	2023 Expenditures / Circulation	County	*2023 Circs to Residents w/o Library	2025 Payment 100%	2025 Payment 70%
Abbotsford	Clark	\$144,785	19,549	\$7.41				70%
					HOME COUNTY	3,931	\$29,128.71	\$20,390.10
					Taylor	646	\$4,786.86	\$3,350.80
Antigo	Langlade	\$680,550	80,405	\$8.46		Joint City/County Pu	blic Library	
	gc	<i> </i>		-	HOME COUNTY	0	\$0.00	\$0.00
					Forest Lincoln	1,277 571	\$10,803.42 \$4,830.66	\$7,562.39 \$3,381.46
					Oneida	748	\$6,328.08	\$4,429.66
Colby	Clark	\$380,547	62,911	\$6.05	HOME COUNTY	23,339	\$141,200.95	\$98,840.67
					Chippewa	17	\$102.85	\$72.00
					Taylor Wood	436 34	\$2,637.80 \$205.70	\$1,846.46 \$143.99
					vvoou	34	ş205.70	ş145.99
Crandon	Forest	\$185,602	11,368	\$16.33				
					HOME COUNTY	7,066	\$115,387.78	\$80,771.45
					Langlade	88	\$1,437.04	\$1,005.93
					Oneida	242	\$3,951.86	\$2,766.30

Dorchester	Clark	\$82,546	10,209	\$8.09			
				HOME COUNTY	483	\$3,907.47	\$2,735.23
				Taylor	567	\$4,587.03	\$3,210.92
				Wood	19	\$153.71	\$107.60
011	<b>T</b> . 1	600 700	40.250	ć5.00			
Gilman	Taylor	\$96,766	19,358	\$5.00 HOME COUNTY	13,070	\$65,350.00	\$45,745.00
					10,070	<i>403,330.00</i>	<i>\</i> 13,7 13.00
				Chippewa	1,365	\$6,825.00	\$4,777.50
				Clark Rusk	261 390	\$1,305.00 \$1,950.00	\$913.50
				RUSK	590	\$1,950.00	\$1,365.00
Granton	Clark	\$37,539	14,099	\$2.66			
				HOME COUNTY	8,719	\$23,192.54	\$16,234.78
				Eau Claire	4	\$10.64	\$7.45
				Wood	39	\$103.74	\$72.62
		4444.000		47.07			
Greenwood	Clark	\$114,306	20,147	\$5.67 HOME COUNTY	10,505	\$59,563.35	\$41,694.35
					10,505	<i>,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,</i>	J+1,0J+.33
				Taylor	24	\$136.08	\$95.26
Laona	Forest	¢66 707	E 202	¢12.20			
Laona	Forest	\$66,707	5,383	\$12.39 HOME COUNTY	738	\$9,143.82	\$6 <i>,</i> 400.67
11	Claul	605 355	46.056	ér cr			
Loyal	Clark	\$95,255	16,856	\$5.65 HOME COUNTY	8,600	\$48,590.00	\$34,013.00
					0,000	÷ 10,000100	<i>40 1,010.00</i>
				Wood	36	\$203.40	\$142.38
Marathon Co.	Marathon	\$3,648,195	645,861	\$5.65 Consolid	lated County F	ublic Library	
	iviui utiloli	<i>\$3,040,133</i>	040,001	HOME COUNTY	0	\$0.00	\$0.00

				Clark	1,181	\$6,672.65	\$4,670.86
				Langlade	318	\$1,796.70	\$1,257.69
				Lincoln	3,107	\$17,554.55	\$12,288.19
				Taylor	1,028	\$5,808.20	\$4,065.74
				Wood	73	\$412.45	\$288.72
Medford	Taylor	\$456,924	127,065	\$3.60			
				HOME COUNTY	62,315	\$224,334.00	\$157,033.80
				Chippewa	8	\$28.80	\$20.16
				Clark	1,689	\$6,080.40	\$4,256.28
				Lincoln	279	\$1,004.40	\$703.08
				Price	778	\$2,800.80	\$1,960.56
				Rusk	101	\$363.60	\$254.52
						·	·
Merrill	Lincoln	\$990,158	113,036	\$8.76			
				HOME COUNTY	51,428	\$450,509.28	\$315,356.50
				Langlade	329	\$2,882.04	\$2,017.43
				Oneida	133	\$1,165.08	\$815.56
				Price	97	\$849.72	\$594.80
				Taylor	130	\$1,138.80	\$797.16
Minocqua	Oneida	\$527,430	119,781	\$4.40			
				HOME COUNTY	33,345	\$146,718.00	\$102,702.60
				Forest	72	\$316.80	\$221.76
				Langlade	7	\$30.80	\$21.56
				Lincoln	84	\$369.60	\$258.72
				Price	114	\$501.60	\$351.12
				Vilas	21,569	\$94,903.60	\$66,432.52
Neillsville	Clark	\$149,141	30,028	\$4.97			
				HOME COUNTY	18,227	\$90,588.19	\$63,411.73
				Jackson	372	\$1,848.84	\$1,294.19
				Taylor	9	\$44.73	\$31.31

Owen	Clark	\$126,944	13,497	\$9.41				
			,		E COUNTY	5,583	\$52,536.03	\$36,775.22
				Chippe	ewa	9	\$84.69	\$59.28
				Taylor	•	673	\$6,332.93	\$4,433.05
				4				
Rhinelander	Oneida	\$1,015,568	123,080	\$8.25				405 504 45
				HOME	E COUNTY	16,586	\$136,834.50	\$95,784.15
				Forest		124	¢1 105 50	6772 OF
				Langla		134 1,345	\$1,105.50 \$11,096.25	\$773.85 \$7,767.38
				Lincol		2,784	\$22,968.00	\$16,077.60
				Vilas		545	\$4,496.25	\$3,147.38
				Vilus		515	<i>v</i> 1, 130.23	<i>93,117.30</i>
Rib Lake	Taylor	\$97,782	19,105	\$5.12				
	·				E COUNTY	4,052	\$20,746.24	\$14,522.37
				Chippe	ewa	3	\$15.36	\$10.75
				Lincol	n	7	\$35.84	\$25.09
				Price		1,723	\$8,821.76	\$6,175.23
		4		4				
Stetsonville	Taylor	\$82,497	14,451	\$5.71		4 5 2 6		ćc 120 20
				HOME	ECOUNTY	1,536	\$8,770.56	\$6,139.39
				Clark		62	\$354.02	\$247.81
				Clark		02	Ş33 <del>4</del> .02	Υ <u></u>
Thorp	Clark	\$116,815	23,536	\$4.96				
·					E COUNTY	10,871	\$53,920.16	\$37,744.11
				Chippe	ewa	582	\$2,886.72	\$2,020.70
				Eau Cl		459	\$2,276.64	\$1,593.65
				Taylor		1,446	\$7,172.16	\$5,020.51
Three Lakes	Oneida	\$303,492	27,274	\$11.13			622.022.22	646 600 50
				HOME	ECOUNTY	2,141	\$23,829.33	\$16,680.53

				Forest Lincoln Vilas	322 19 4	\$3,583.86 \$211.47 \$44.52	\$2,508.70 \$148.03 \$31.16
				Vitas	-	,	Ş51.10
Tomahawk	Lincoln	\$447,201	54,753	\$8.17			
				HOME COUNTY	25,573	\$208,931.41	\$146,251.99
				Oneida	6,568	\$53 <i>,</i> 660.56	\$37,562.39
				Price	1,280	\$10,457.60	\$7,320.32
				Taylor	172	\$1,405.24	\$983.67
	_ ·	to 1 000					
Wabeno	Forest	\$34,633	2,574	\$13.45	700	610 C12 0F	67 420 44
				HOME COUNTY	789	\$10,612.05	\$7,428.44
Westboro	Taylor	\$54,969	10,990	\$5.00			
	,		,	HOME COUNTY	343	\$1,715.00	\$1,200.50
				Price	240	\$1,200.00	\$840.00
Withee	Clark	\$73,538	7,089	\$10.37			
				HOME COUNTY	4,066	\$42,164.42	\$29,515.09
							4
				Chippewa	1	\$10.37	\$7.26
				Taylor	94	\$974.78	\$682.35